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l.

2.

3.

4.

(10%) Let N be a linear electric network without initial stored energy, & be the unit-impulse
function and x be a (time domain) forcing function. State the responses observed at output (a).

5(¢) ‘ N h(t)
x(t)\ N (a)

(10%)Given the Fourier transform pair of figure (a) below, sketch the transform of (b).

#lo)

(10%) If the solid curve in the following figure represents sin(27t) , what does the dotted curve

represent?
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(20%)Evaluate the following integral,
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P3->
(10%) Let u(r) be the unit step function, sketch the graph of u(5-1).
(20%) The éverage power P, for a real signal is defined by P, = ilrim% K; g*()dt . Determine

the power and the rms value of g(¢) = C cos(w.t +6), where C > 0.

(20%) A theoretical Bit Error Rate (BER) for various encoding schemes is given below. -

i.0
101 : —]
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(a) What are the definitions of Ey» And Ny?
(b) In general, to achieve a lower BER value, does one incréase or decrease the (E, /N, )

dB value?
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